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JAFALINSY —BFIEB6E JMRCHINSY—CH B6E: JMRCAMF vl > UM Heik 2014411 A2H
DAY1 POS
NO. |DRIVER CO DRIVER CLS | Sst SS2 SS3 SS4 SS5  SS6 SS PENALTY| TOTAL |CLS| OV
3 |REE HFTEH RH6| 6:312 2519 2506 6:147 2494 6105 27:283 27:28.3| 1 1
5 ==tz FHE— RH6| 6:333 2:565 2:551 8034 2567 6:162| 29:41.2 29412 2 | 6
1 [SFH—ER MRIEFE RH6| 6:298 2571 3074 7:266 4188 851.8 33115 33115 3 | 12
2 [BRIEAN N2E— RH6| 6:289 2:558 J&AA
7 |RERELC WEHN RH4 | 6:536 3:065 3043 6357 3030 6298 29:12.9 29:12.9| 1 2
6 [FRIEXER BETHE RH4 | 7:024 3:125 3.050 6473 3033 6387 29492 29:492( 2 | 8
8 |BEBAF O R RH4 | 7:121 3136 3:156 7:048 3:104 6:54.5 30:51.0 30:510[ 3 | 10
9 |AIEFIAEK FRiE % RH4 | 7:080 3:144 3:150 7:063 3:135 7:100| 31:.07.2 31:07.2| 4 | 11
1M |REEX FR#EARER RH2| 6:59.5 3:152 3:038 6:356 3:034 6270 29:245 29:245| 1 3
10 |=EfE 5| £N8A RH2| 6:50.8 3:088 3:086 6420 3028 6343 29:27.3 29273 2 | 4
13 |2 H INEP R RH2| 7:064 3125 3071 6311 3059 6323 29:353 29:353| 3 | 5
14 /M1 HEFE RH2| 6:51.1 3:107 3:094 6445 3092 6364 29413 29:413 4 | 7
12 (EfER ATIBRESE RH2| 6:584 3:100 3084 6:525 3:.098 6:47.6 30:06.7 30:06.7| 5 | 9
15 [{REIE= KAREN CH1| 6:53.7 3132 3:103 6:589 3:.092 6425 30:07.8 30:07.8| 1
16 | REHEF— PR CH1| 7:.043 3153 3:168 6:508 3:155 6:48.2 30:30.9 30:30.9| 2
18 (RAZE R 4 BE F CH2| 6:384 3:006 2580 6:308 3:01.8 6:220 28:31.6 28:31.6( 1
17 |ABZE AEAKRIEEE CH2| 7:175 3125 3104 6:536 3:10.1 6:53.7 30:37.8 30:37.8| 2
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